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Centre Number Candidate Number
Pearson Edexcel
Level 1/Level 2 GCSE (9-1)
a )
L y )
a )
Morning (Time: 1 hour 30 minutes) Paper Reference TMA1/2F
Mathematics
Paper 2 (Calculator)
Foundation Tier
. J
[ You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
_Tracing paper may be used. )
. J
Instructions
® Use black ink or ball-point pen.
® Fill in the boxes at the top of this page with your name,
centre number and candidate number.
® Answer all questions.
® Answer the questions in the spaces provided
— there may be more space than you need.
® You must show all your working.
® Diagrams are NOT accurately drawn, unless otherwise indicated.
® Calculators may be used.
® [f your calculator does not have a # button, take the value of 7z to be
3.142 unless the question instructs otherwise.
Information
® The total mark for this paper is 80
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
Advice
® Read each question carefully before you start to answer it.
® Keep an eye on the time.
® Try to answer every question.
® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Write 0.37 as a fraction.

(Total for Question 1 is 1 mark)

2  Write 29381 correct to the nearest 1000
O raund. douon

AAAAAAA A4, 00Q 7.

(Total for Question 2 is 1 mark)

3 Simplify 3e—e+4e
de tle
be

AAAAAAAAAAAAAAAAAAAA Se Vi .
(Total for Question 3 is 1 mark)
1 ol
4 Write 1 as a percentage. _l_ - _’fl__ . s
L (O TG o
~)
*LLS

(Total for Question 4 is 1 mark)
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5 Here is a list of numbers. - 3;‘3}3 - -33
3 4 9 18 27 30 36

From the numbers in the list, write down a cube number.
Gnl

(Total for Question 5 is 1 mark)

.................. 2T A

6 Liz is watching a film at the cinema.

The film started at 14:30 )
The film is 105 minutes long. = |he  [OF-0S W — he LSmin A

When the film ends, Liz takes 20 minutes to get to the bus stop. — Oar Lowin
A bus leaves the bus stop at 1645

Does Liz get to the bus stop in time to get this bus? L 30
You must show all your working. |- Us

1S 5§ 5 |Swin peor
]6‘. O (S H/‘-Q owse

1611S

0N
|6 .35 \/L

|63 s befor (6.UF owd e yes

Lne  doyey cjey Beoe an
e L%

(Total for Question 6 is 3 marks)
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7 Farhad, George and Tom each did a test.

Here are their marks for the test.

Farhad 74
George 77
Tom 72

George drew this bar chart to show the marks they got.
The bar chart is not fully correct.

78
77
76
75
74
73
72
71

Farhad  George Tom

Write down two things that are wrong with George’s bar chart.

Lo Bos owe ok Ahe  Senme 0aid Mo 07
2 - axiahoy ne Jabel  ( ehowtdd e laheded.  meih) o

(Total for Question 7 is 2 marks)
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S, XEEYT 1T e

L \J50°
A B C T 37

J = 1807 - 15Q°

ABC is a straight line.

(a) (1) Work out the size of the angle marked x.

........................ 307
1)
(i1) Give a reason for your answer.
............ @%&muéVm;ahr\Acsumbng\/
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, (1)
The diagram below is wrong.
[ ]
280°
(b) Explain why.
................ lAﬂa\ChQ{m\LQLPdn\féu\l\k\IbeQﬂ.Dlgcj{aw\smm
AAAAAAAAAAAAAAA QLOWIMMQI,QO”+1&0°:3’}Q°
T ¥ & M= G & S Huerefere % uNu\B‘/' ..................
(1)

(Total for Question 8 is 3 marks)
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9 This scale can be used to change between kilometres and miles.

miles
0 10 20 W 30 40 50
| | | | | |
[ [ [ [ [ [ [ [ |
0 10 20 30 40 50 60 70 80
kilometres

(a) Use the scale to change 40 kilometres to miles.

=)
o
=
o
—
=
2
—
m
=
=
E~
W
>
= o 109
Im
>

...................... 7\ g\/l miles

Here is an approximate rule to change from kilometres to miles.

Divide the distance in kilometres by 10 and then multiply by 6

(b) Use this approximate rule to change 40 kilometres to miles.

A
(E‘*_’\_’“_) PR %@xé —y Lixb= 24,
10

(c) Compare your answer to part (b) with your answer to part (a).

....... puf%u)@uve.uam,pcmlo)@cmau;z.q

/mehuo ....... AT Ve - Gluite...AOse... L

(Total for Question 9 is 4 marks)
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10 (a) Solve 3m =36

5 6 A = 5_533’:&
3
m=___lg Vi
(e))
(b) Solve 7-x=3
Fox =3
rx () Jrx
/ F o= 3tXx )
-3 YU F-3 = "3
L = X x= 4y /i
(€))
(Total for Question 10 is 2 marks)
11 Here is a cuboid.
J=L >LU\J7~CL
~ ([Ocwar Leovax \Sewa
ak
dem I15cm _
6o
10cm “

— [ Ocmax C')Q(W)“‘-/l
o
= 60O 3 \/3

Work out the volume of the cuboid.

G)QO 44444 Q\MZ\/ .......

(Total for Question 11 is 3 marks)
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12 Lucy uses a code to open a lock.

The code is a letter followed by a 2-digit number.

23

eg

The letter is L or U. 2L
The number is a prime number between 20 and 30 — @
Pey

Write down all the possibilities for Lucy’s code.

| 3 \ 29 |

U Uz ut9

MO

(Total for Question 12 is 2 marks)

13 A machine fills bags with sweets.

There are 4275 sweets.
There are 28 sweets in each full bag.

The machine fills as many bags as possible.

How many sweets are left?

\ LY
Al MW Y o haoue - - 1§2.0%...

S1SL o gy UL

'L/ fm:k NGO Sl g ueek v LSL M )’C*ﬂgg
€L x 29 = Lu_seﬁ
5/|/lumwr o el lebr ~ 15 - U156
= 19

195

(Total for Question 13 is 3 marks)
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14 The table gives information about the number of goals scored by each of three teams.
T Number of goal
/OWL o Cit;am um e;‘oo goals amle x = %_, x 500°
Rovers 45
United 25
Draw an accurate pie chart for this information. CEI’U . _52_, % SQ)C; =\ SOA
Lo 4
Rovers . LS | 3600 - 128°
(WXa)
Unikeel = 2 yee = 3€°
170 \A,
%,
(Total for Question 14 is 3 marks)
. J
9
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15 T=3x+4y

(a) Work out the value of 7when x =5 and y = -7 8
z
-
T = 3(3’)+h(-?)\/a :Eu
- 1§ -8 =
>

<~ =
® 13 Ve x
....................................................... 3
(2) ;:
(b) Work out the value of y when 7=38 and x =6 I.:(>I.l

T= 3+ uﬂ

3¢ = 306) \‘L&j

v,
g =~ 18+ L ]
% ( J ) - 1€
3 Ley
euﬁ 3 8
v (,, =S S S
(2)

(Total for Question 15 is 4 marks)
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16 An exam has two papers, Paper 1 and Paper 2
Paper 1 has 60 marks.
Paper 2 has 90 marks.
.2 L

The pass mark is 3 of the total number of marks. Prw. = E CéQt CIQ) = é/* |co

Danielle gets 70% of the marks for Paper 1 = (O] VA

How many of the marks for Paper 2 must Danielle get in order to get the pass mark?

Puper I muik - 3a% of 6o

O FIx &0 = L) waika e
v
Ml veeded. on poper & = 1O - L+ G& Wevin,
Vi
53 madks
(Total for Question 16 is 4 marks)

. J
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17 Scott wants to make orange juice.
He is going to buy boxes of oranges.
&
. o
There are 24 oranges in each box of oranges. % ;
30 oranges make 2 litres of orange juice. =
=
. - s
Scott needs to buy enough oranges to make 8 litres of orange juice. — |7 O oranyexy ﬁ ;
(a) Work out the number of boxes of oranges that Scott needs to buy. Z
You must show all your working. e
v
. >
/& ol Y - O m
p -
=N s
NG ), %4
& o
’ o se - 2_(,\ Qruna e
%
........ .glOQace:;
3)
Scott also buys
1260 apples
280 bananas
(b) Write down the ratio of the number of apples that Scott buys to the number of
bananas that he buys.
Give your ratio in its simplest form.
apples bananss
1260 . Lé&O
4. &
9.0 A /e
(2)
(Total for Question 17 is S marks)
.

12
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e
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& \
z O\ 4
= A \\
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2 AN N 2
2 \\\ 1

=<V

Describe fully the single transformatign that maps triangle A onto triangle B.

........... no\rﬂ\(\Q\r\oL180°,CL\OOuk|'L~a\Qom1»Cl RN Wi

(Total for Question 18 is 2 marks)

J
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19 Adam, Linda and Rytis share an amount of money.

Linda gets three times as much money as Rytis gets. —) L =3R

o}
Linda gets half as much money as Adam gets. SL - LR g
What fraction of the amount of money does Linda get? > 9|
5
ler R =1 - =5
5 E=3 alie AL R z
SHA=6 & A 2
7
=
z
frucl/im\ yw Linden = _ 3 _ 3

(Total for Question 19 is 2 marks)

20 Pens and pencils are sold in a shop.
12 pencils cost £1.80
The ratio of the cost of a pen to the cost of a pencil is 7:3

Work out the cost of 5 pens.
(X pewclts — FlZe
) pencit Al G e Wy

IR
Pea : Penci
¢O'O<J} 7R #1572 0.5 - n.asvh
O.4F - 5
- SO 1%
J;o $
g pews = & x £Q.AY
- LA
e 1AV
(Total for Question 20 is 4 marks)
§
14
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21 (a) Write 84 as a product of its prime factors.
84
/ N\
2 L
/\
2 2\
/\
3 1
2x2x3xF
(2)
(b) Find the lowest common multiple (LCM) of 60 and 84
6o
7\
2u - @@@ 2 2 e
7N\
6o =\ 1 3/~ S > 1<
4 / N\
Leva( 60, 8W) - Lx2in 3xS x> 3 s
~ i xgx?
- 6o}
= lLlo
.......... L10v:
(2)
(Total for Question is 4 marks)
. J
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22 #=1{1,2,3,4,5,6,7,8,9, 10}
A = {even numbers}
B = {factors of 10}

(a) Complete the Venn diagram for this information.

¢ 3
W6 c \" | S

V3IYY SIHL NI 31IYM 1ON Od

3)
A number is chosen at random from the universal set, & 5

(b) Find the probability that this number is in the set 4 N B :

(Total for Question 22 is S marks)

T T T I I IIIIIIIII,
pezeseetezetezet DXL oS % OO e Lo tote % Lo et % toteteted petoTtezeteledex

58
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X

R

X9
<
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3

s
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23 Carlo puts tins into small boxes and into large boxes.
He puts 6 tins into each small box. — Nuwan svwak bax = [1O0O0 _ , vy
He puts 20 tins into each large box. s large o 6
S Naw larg dx: Sos 00 -
Carlo puts a total of 3000 tins into the boxes so that 20 3
number of tins in small boxes : number of tins in large boxes = 2:3
Carlo says that less than 30% of the boxes filled with tins are large boxes.
Is Carlo correct?
You must show all your working. _ AOOO
IS‘/LC»\M = - 6()0 \/(.
2t3%
Svwasd ¢ laige
2 2
. K A WS
Fincli "9 AU o lorge  base v e Popatian o}
Olr \pl,&-l locx ey
10 o) CA-S) VL
~ OO0y . 5 3] Yo A-S VY
2301
2% Do .. Cole B My Vs
(Total for Question 23 is 5 marks)
. J
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24 (a) Complete the table of values for y =5 — x?

y 113 6 g U -3 | A V2

2

<

355558
0"0’0
S5
Sy
196,75 )8
o099
%

[

-

=

,
—_
o N
s
o

//

SN

Dosee
< oo
Dosotate
~ "/l L/Z.. Koo
s
Besererlese
SRKARIKX

|
F

X
"
X e
R

<

N

(@)
9%
4:4920
%6
/01\04
KEL

XXX
XXX
%,

2

(Total for Question 24 is 4 marks) s
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(Total for Question 25 is 2 marks)

( )
25
1 5oy
178 mm O CAH
xmm
QA
34° N
Work out the value of x.
Give your answer correct to 1 decimal place.
. O
SAB - = 5 0= HxSine 4
H
= |F8mmy SiA 3L©
= 19.¢36... wnr
= 99. Cmwa
5!‘1 C Vi

)l

Find 2a —3b as a column vector.

1(3)-3(i)
(5)- (%) -GJ)
g )~ \-¢6) ~\Iu

q+g>
bt A

()49
£(2) =(i3)

N,

(Total for Question 26 is 2 marks)

J
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27 The diagram shows a right-angled triangle and a quarter circle.

C D )

- Aty 2

rots 9

9m \OL: [ =

=)

,ég o~ Jer- =

— =

A 6m B I

C__é - ql' 61‘ ('/l z

The right-angled triangle ABC has angle ABC = 90° X
R o - Jgl-36 =Jdus Z

The quarter circle has centre C and radius CB.

= 2J5 L

Work out the area of the quarter circle.
Give your answer correct to 3 significant figures.

You must show all your working. qiee. o circle AL
Q (' -

Olucnlxd' ¢} Orcle = L murt
“ 3
= Lﬁﬁ&(?)j—s—)l = SS-BQl—-

1,
- AS. %m/,'{

SIS
2 $RAXRS

AAAAAAAAAAAAAAA 3§u3 m 020%0%0%
XXXXRS

(Total for Question 27 is 4 marks) s
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28 Each exterior angle of a regular polygon is 15°

Work out the number of sides of the polygon.

é@_.ij ~ Sike of exledur OMgic (0) 5 30 ebL/,
" w( " ), xn
360"2 V1 90)
=)
n= 3« v
QO

[GaN

o
- 2_,(}__3’_ =Ly
1S°

........... 20V

(Total for Question 28 is 2 marks)

29 Write down the gradient of the line with equation y = 2x + 3

H:VVIJCTQ

(Total for Question 29 is 1 mark)

TOTAL FOR PAPER IS 80 MARKS
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